4

A=A I~

11-=Z0FIST

B m R

Model Table |

Body Parts ‘ Engine Parts ‘

HEES

7410

PrE




BRFEOHAFEICOWVWT

;4573
ZOEWBmBIIAK, T VDO TR I TWE T,

mE
PRI RS, Bfa AL T &,

FF AT
REHMBICEEHBEINTOBIEFIE, THEXWELBORNEREZRLTED 7,
ZZIIREN-HES B E L TR XYIIFHIZA-TED ITDOT, BUKEOEE
ICTCZREXFEB LS BHOVELET,

REIH
PETBMICEER SN TS BT, MRLBFOBEEN 2T (FH) T3, @idl
B d L<idlty P TORMETRTY,

vy
K CHIZEHENRTOBBAE Ty Yy 7Y — A TF., T4, HLOLBBLET
HNTRBLBESON XN TSI BB TRETT,

* SRSRIE358 AT Arv k- byMI B ENFE T,
@ BHIT121 37 V- NI E TR E T,
A EBEIZ1033 VAT AN R Fy NI A E R E T,

HRBESRRBRBOLD, EETHI LMD E T, Rk CPBRBESEETORFE
& CHEERI £ 7,
(f51)
Part No. List Price Description Dispo. Code
93440 130 Use94712 C

(ZDHBAIM440DFEBFIZMTI2IZEBF XN L AR L E T, & L93440D fEE A
b, ThEEBEELUTHEHL, FEBLZOIGAUTREEHLET,)



PARTS LIST FOR THE YANASE SNOW-THROWER
TIPS FOR USING THIS PARTS LIST

1. STRUCTURE
This Parts List has two sections: Body Parts and Engine Parts.

2. NOTES
General standards, name, etc. are described in this column.

3. ORDER-UNIT
The number listed here indicates the number of individual parts prepackaged together.
Because of the prepackaging, parts must be ordered in multiples of this number. For
example, if the number indicatedis 5, but you want to order 7 units, then you are
requested to order 2 sets of 5 parts or 10 parts.

4. STANDARD PROCESSING TIME
This number indicates the amount of time required for parts to be replaced.

5. ENGINE
If the figure is surrounded by a frame, assembly is required. Only parts given an index
number can be individually ordered. Other parts may be ordered only as parts of sets
and kits. Therefore, parts marked with:
sk are included in the Gasket Set #358;
@ are included in the Carburetor Kit #121;
A are included in the Valve Overhaul Kit #1033.
Notice: Parts numbers may be changed without notice. Please confirm all parts numbers
when placing orders. Some number changes will be indicated within the parts list as
follows:
Part No. List Price Description Dispo.Code
93440 130 Use 94712 C
Here, the part number has been changed from 93440 to 94712. Parts listed as 93440 will
be available as long as supplies last. Parts listed under 94712 will then be supplied.




11-20HST

1999
Parts List




Z .
Body Parts

72411

Top
I‘/:/“‘/.jl/_jAgB ....................................... 2~5
Engine & Frame
Oy I\I:I—)lzglg ............................................. 6~11
Levers & Links
T—ﬁ’iv“/a‘/‘éﬁ ....................................... 12~13
Auger Mission
j_ﬁ.juqﬁ .......................................... 14~17
Auger & Blower
:/ 9 — ’\ :\nilg ................................................... 18~21
Chute
iﬁ'@\ﬁggg ................................................... 22925
Transmission
/EEH_ZEB ......................................................... 26~29
Hydraulic System
FIN— « FEFT T L — L8R ceecreereerearmoeeniiniiiiiinns 30~33
Covers & Frame-driving
%ggg ......................................................... 34~37
Electrical Equipment
Z 7—_ w jj lr:ﬂg ................................................... 38~39
Stickers
Eaﬂiﬁl ............................................................... 40

Wiring Diagram

2000. 1



724 I > e« JL—LE

.b,.t 11-20HST 2000. 1



I TUL—LE 724

BiiNo.{ H & F 5 Y i # B ] H ¥ | FikEf | 2 T
1 | S072—1110 ALY TL— L4 1
2 | S072—7101 B&ST YV E5L381447(20HP)| 1
3 | S072—7110 A B} 1
4 | S941—2394 Yo — (lif) 1/4X1,/4X62 1
5 | S009—0480 Iy F7FL—} 1
6 | S801—1252 NAFRL N (7AIH A 241l /40%) | 3,/8—24UNF X 20 1
7 | S926—1208 IN S M10 10 5
8 | S058—7120 FLyFa—7 1
9 | S009—0971 FLYyFa—TFey 7 1
10 | S072—7120 ~ MR A 2 0.2
11 | S801—1254 ANAKRNL N (127748 32410 /17%) | 5,/16—24UNFX25| 2
12 | S926—1206 IN IS M8 15 5
13 | S072—7130 <73 H5— (F) 1
14 | S913—3207 7T VRS AEFAL b M6X12 5 5
15 | S072—7101—1 | =7 3,84 7 1
16 | S914—4220 VA AL av B SR S M4X 10 1
17 | S812—1012 IR Py BRI WF12 1
18 | S061—7152 BRE 2~ 2T SR HHNo.19~28& ¢ 1 1.8
19 | S061—7152—1 | ¥4 v & 1
20 | S255—2440 ThISy F Y 1
21 | S255—2420 beplii | 1
22 | S901—2016 ANAEARL b M6X 16 7 5
23 | S812—1006 V=NTy iy WF6 4 5
24 | S061—7152—3 | X bL —F 1
25 | S255—2450 oS ST A R 1
26 | S061—7152—4 | BBty — > 1 0.2
27 | S061—7152—5 | TaswF v (BREY—) 1
28 | S908—1214 +FIRN b Y M4X12 5 5
29 | S061—7170—1 | MBF—2 (v o —>T 4 L&) 430L 1
30 | S061—7171—2 | BRF-X (T4 =2 YY) | 950L 1
31 | S836—1012 F—2)5 R 12 4
32 | S072—1140 WNolr—UT 3% 9 b 1
33 | S902—4033 INESARIL b M8X20(8T) 7 5
34 | S902—4052 INEFSAFRL b M10X20(8T) 3 5
35 | S929—2206 SRS M10 4 5
36 | S061—1220 Ny T IUE 1
37 | S902—4054 NEAFEARL b M10X30(8T) 4 5
38 | S061—3760 Ty (v h—H) 1
39 | S028—1910 HIV YT 44 1
40 | S916—1204 NAF b M6 10 5
41 | S072—1270 *—Hr—2A%X¥ 777 v b 1
42 | S916—5205 NESRAT Y b M8 6 5
43 | S916—5206 INESAT 9 b M10 6 5
44 | S072—3021 BEB~<Y Y (K) 1
45 | S053—3840 NS AR b M10X135 2
46 | S061—3012 BEBR~ v+ (FH) 1
47 | S901—2015 ANAFRIL b M6X12 1 5
48 | S929—2205 SERES M8 3 5
49 | S926—1204 IS TS M6 12 5
50 | S072—7140 <77 Hh5— (TF) 1
2000. 1



724 T2 TL—LE

2000. 1

"’,‘t 11-20HST



I T - TL—LE 724

RiiNo.| 2 % & 5 woWm % K 14 L A | R | MR T8
51 | S902—2032 INEA R b M8X16 2 5
52 | S072—3720R avoi (H) 1
53 | S016—6031 o — Z ez A 1
54 | S929—4204 AP NE D) M6 4 5
55 | S072—3720L g2 voH (k) 1
56 | S061—3730 BB AT — 1
57 | S061—3750 8B HIN— 1
58 | S050—2290 Bif T 4 4
59 | S902—4038 INESA R b M8 X 45(8T) 2 5
60 | S902—4053 INEFSAER L b M10X 25(8T) 8
61 | S926—1208 IN IS M10 8 5
62 | S929—2206 R4 M10 8 5
63 | S072—6040 Wg (7 — X [a)ExEA) 4
64 | S926—1207 IN TS 3/8 1
65 | S929—2204 SERE S M6 1 5
66 | S902—4054 INESNHE AL b M10X30(8T) 4
67 | S926—1208 IN G S M10 4 5
68 | S953—2202 VA S-S ¥ B—PT1,/8 1
69 | S953—1202 VA S ¥ A—PT1/8 1
70 | S902—4053 INEF AR b M10X25(8T) 8
71 | S926—1208 IN TS M10 8 5
72 | S016—6020 o — Z [0ldE i 1
73 | S870—2112 Bosid 2 (8HD) [H061—9510 2 5
74 | S926—1208 I8 S M10 4 5
75 | S916—5206 MNESAET 9 b M10 4 5
76 | S870—2111 BRI A (6HD) IH061—9520 1 5
77 | S902—4053 NESEEL b M10X25(8T) 1 5
78 | S902—4039 INEAAERL b M8 X 50(8T) 2 5
79 | S072—7101—2 | v 7 3,54 FEESER 1
80 | S902—2042 NS AARL b M8X65 - 1
81 | S929—2205 SRS M8 2
82 | S926—1206 I8 S M8 1
83 | S916—5205 WNESRAET b M8 1

2000. 1



724 2> bO—JLER

t*t 11-20HST 2000. 1




O bO—ILER 724

RHiNo.| & & & 5 a8 i e PN 1 L s | A | =Y T
1 | S072—3100 e 1 1
2 | S072—3122 RS 2L 1 0.7
3 | S913—3608 TIVIMANAEAL L (B) 2—M6X 16(7T) 14 5
4 | S058—3110 THE 4
5 | S908—1214 F IR AN F D M4X12 4 5
6 | S072—3150 L S (AT PP 1 0.5
7 | S926—1204 IN I M6 4 5
8 | S916—1204 ATy b M6 2 5
9 | S061—3880 EHETL —F7 — A 1

10 | S930—0243 N 4X40 1 10

11 | S913—3307 T IORRARL N (B 2—M6X12 4 5

12 | S050—4131 S 1 0.2
13 | S803—0227 ANHETUFY T AL b M8X 20 2 5

14 | S061—3160 Ya—bFETFLIN— 1 0.3
15 | S706—1210 2Ty vy 1

16 | S929—2206 P 4 M10 5 5

17 | S806—7204 NERAUF v b M10 4 5

18 | S072—3390 oy N (FZEH) 1

19 | S061—3040 4 FOFyFAT— 1

20 | S901—4017 ANEFER b M6 X 20(8T) 3 5

21 | S072—3220 YA KT yFLIN-— 2 0.3
22 | S061—3230 +4 K25y FLoN—i 1 0.7
23 | S902—4033 INEAAEL b M8 X 20(8T) 4 5

24 | S926—1206 IN S MS8 4 5

25 | S916—5205 NESAT b M8 4 5

26 | S072—3790 B (ML K25 9F) 12—34 s u 2 0.1
27 | S061—3240 A4 F259F7 -4 (F) 1 0.7
28 | S061—3250 HA 2S5 9FT7—24 (k) 1 0.7
29 | S929—2209 S M16 2

30 | S930—0241 vy 4X32 2 10

31 | S931—1117 2T I 3X25 2 5

32 | S931—1132 2Ty Iy 5X25 2 5

33 | S061—3271 oy F (44 Fo359F) 2

34 | S061—3280 VAR 2 0.3
35 | S916—6205 NESFAT Y b (35E) M8 2 5

36 | S824—1209 JEfM ¥ 6X20 2 5

37 | S929—2204 R Mé6 2 5

38 | S930—0208 #Y 2X16 5 10

39 | S072—9150 2T vy 2

40 | S930—0219 #HY 2.5X20 1

41 | S930—0228 IR 3X20 1

42 | S927—4109 s+ H—12 1

43 | S902—4077 NS AR b M12X50(8T) 1

44 | S929—2207 SRS M12 4 5

45 | S930—0228 #HY v  3X20 2 10

46 | S902—2051 INESRAARL b M10X 16 2

47 | S072—3300 LS—FKANT I 9 b 1

48 | S838—3118 = M12X%20 1

49 | S072—3290 WL N — 1

50 | S082—3290 By (B#EL ) 12—57 HT # 1

2000. 1



724 > bO—JLER

v*t 11-20HST 2000. 1



O bO—JLER 724

HiiNo.| & % & 5 ;W &% K 14 L2 fEg | RibHf | B T

51 | S828—1260 Tya Oy X&) 12X14X12 2
52 | S072—3311 L= b () 1
53 | S072—3321 LN—FRZ b (BIE#H) 1
54 | S916—5205L INERAEF Y (ERY) MSL 2 5
55 | S040—1660 B—=YINy o)L 1
56 | S061—3330 FEHET—4H (9 aV) 1
57 | S910—3120 NARERY (FHUER) M8X16 1 5
58 | S901—4019 ANAFL b M6X30(8T) 1 5
59 | S061—3340 LT — 4 1
60 | S828—1297 Tyva Oy A4)) 30X34X12 1
61 | S938—1367 R=ARTY VT 62677 1
62 | S705—3225 A7)y 1
63 | S061—3350 Fp 7 38 R iy 1
64 | S072—3361 IR T — 4 1
65 | S061—3381 iy F 1
66 | S916—5205 NESRAT b M8 6 5
67 | S835—2555 oy FxY F (LE) M8X1.25 1
68 | S926—1206 IN S M8 4 5
69 | S061—3411 Bl # e y F 1
70 | S835—2555 oy Fxy F(UB) M8X1.25 1
71 | S835—2555L vy FxvF (L) (ExY) MS8LX1.25 1
72 | S061—3431 LSN—%a .y K 1
73 | S916—1204 SNEF b M6 4 5
74 | S835—2554 oy FxY F (LE) M6X1 2
75 | S926—1204 IN TS M6 2 5
76 | S061—3441B E 1B 2
77 | S061—3650 7V ayTL—} 1
78 | S061—3442 LN—HBT — 4 1
79 | S005—4540 VIR ¥ 2 5
80 | S806—3205 F4arF ot M12 1 5
81 | S061—3461 FTERE TS o b 1
82 | S902—4572 NS A RIL b M12(P1.5) X 25(8T) 2 5
83 | S926—1209 INFHES M12 3 5
84 | S902—4035 INEAAEL b M8X30(8T) 1 5
85 | S061—3860 Ydgh (7L —F) 1
86 | S929—2207 TS M12 2 5
87 | S072—3480 d—H2FyFLIN— 1 0.3
88 | S828—2192 TIV VT 12X 14(20X1) X 21 1
89 | S929—2205 R4 M8 4 5
90 | S930—0228 =2 R 3X20 7 10
91 | S072—3490 Vs T —246 (F—HH) 1
92 | S828—2112 T3 T 9y 12X14(20X1) X 16 1
93 | S053—3340 IV AR VAN 1
94 | S072—3500 A —HII39FI4Y 1 0.5
95 | S824—1295 Rt & 8X18 1 5
96 | S061—3510 2y PRS- 1 0.3
97 | S822—6301 B (78 1
98 | S061—3520 AWy FALLIS—T I 7 b 1
99 | S927—3106 [11IVAES L—8 1 5

100 | S806—8203 NESBFAay Sy b M8 1 5

2000. 1



724 2> bO—JLER

.h,.t 11-20HST 2000. 1




O bO—JLER 724

RiNo. | # & & = ®mom B W 4 ] MBS | Fruins | fmve T

101 | S901—2004 SR b M5X16 2 5

102 | S926—1203 IS IS M5 2 5

103 | S929—2203 Y4 M5 2 5

104 | S061—3550 AWy FLTAY 1 0.3
105 | S061—9530 ZISA FGNF 2 —F 1

106 | S061—3030 NESAEL b M10X35 2 5

107 | S601—3050 Y —=TF ATy FIi— 1 0.3
108 | S711—1101 AT VA B 15A 2

109 | S050—4831 ATAI Ty (X—=TF 40Ty F) 2

110 | S061—3061 YT FAITFT — b 1

111 | S061—3071 BHE 7L —FLv— 1 0.2
112 | S082—3490 B (F—H) 12—50 K7 # 1

113 | S061—3870 EYBi 7L — FdiiEo o F 1

114 | S931—1124 2Ty ey 4X25 1 5

115 | S930—0239 vy 4X25 2 10

116 | S255—2230 ZLE R 1

117 | S824—2209 gEfT Y v 6X20 1 5

118 | S930—0208 - 2X16 1 10

119 | S053—9110 PN 1

120 | S040—2670 Az H 2

121 | S908—1213 +ZIRfF AR Y M4 X 10 2 5

122 | S916—1202 NATF o b M4 2 5

123 | S926—1202 IN IS M4 2 5

124 | S081—3930 BH (Va—1F) 12—40 %74 1

125 | S082—3530 #y (P) 12—40 Pru 1

126 | S926—1208 IN IS M10 2

127 | S929—4204 S (KiF) Mé6 2

128 | S835—1102 Oy FLY F (FAELXYD) 8—M8X1.25 1

129 | S835—1303 Ty FXY F (TAEAFY) 8—M8X1.25 1

130 | S902—4034 INES AL b M8 X 25(8T) 2

2000. 1

11



v g 88

-~
.
~

724 F—74

| 11-20HST

2000. 1

12

PFe



AY -y ~
A—HIva B 724
RHiNo.| & & & & il fi £ ¥R ¥4 22 {E% | RiEEA | EYE T K
S064—5500 *—H 3y g VR No.1~37&% 1.5
1 | S064—5310 Iyavr—2 1
2 | S064—5130 A — H i 1
3 | S941—1319 FArE— (if) 7X7X40 1
4 | S702—1406 * — HEhEY 327 1
5 | S065—5370 N 2
6 | S938—1126 7 A ) B4 6206 2 3.0
7 | S936—1030 CIZ 1L * S—30 2 5
8 | S811—2126 ANV - TC305011 2
9 | S702—1401 oAV Ey 11Z 1
10 | S942—1272 *HF* - 7X22 1
11 | S702—2210 KRN E Y 267 1
12 | S938—1124 FmARFTY VY 6204 2
13 | S016—6530 Ny F Y (I — AREE) 2
14 | S016—6521 r— ZAKEE 2
15 | S902—2034 INEFSERL B M8X25 16 5
16 | S926—1206 AR M8 16 5
17 | S064—5430 A — 77 X 1 3.0
18 | S016—6550 oAyt aL# 1
19 | S811—2122 AANY — TC28458 1
20 | S983—1125 B ARTY VY 6205 2
21 | S936—2052 CHA L # R—52 1 5
22 | S702—2309 IPRAL Y 147 1
23 | S016—9720 W4 1
24 | S902—2032 INESFERL b M8X16 1 5
25 | S016—9700 Ny Fy (KA v A ZLE) 1
26 | S902—2034 N 7wk P M8X 25 4 5
27 | S926—1206 INI S M8 4 5
28 | S064—6610 Noxy (r—2 FEH) 1
29 | S064—5610 -2 b E 1
30 | S901—4017 AR b M6 X 20(8T) 6 5
31 | S926—1204 AR 85 M6 6 5
32 | S952—1203 UEIE T 5 & PT3./8 1
33 | S902—2031 INES A AL b M8X12 1 5
34 | S812—1008 2 Wy B WF38 1 5
35 | S902—4053 INEFS AR L B M10X25(8T) 1 5
36 | S916—5206 AN 772y A M10 1 5
37 | S941—1114 AT EFR — (WA TXTX22 2
2000. 1

13



724 F—7 - 7078

2000. 1

11-20HST

14

vF &



F—# - JAT7E 724

RiNo.| 3 5% &F 5 B i % A # L E% | Rk | e TR
1 | S072—4110 *—Hhr— 2z 1 2.0
2 | S916—5206 INEASNHF b M10 21 5
3 | S926—1208 IS 3L M10 24 5
4 | S050—5360 TL—F 1 0.6
5 | S906—1424 ARAIRA L b M8X25(8T) 8 5
6 | S926—1206 IN IS M8 22 5
7 | S916—5205 INEANHET Y b M8 22 5
8 | S016—9510 Wa (7L — FH) 8
9 | So61—4211L A —Hr— 2 (&) 1 0.9

10 | S061—4211R *—Hr — 2 () 1 0.9
11 | S902—2032 NSRRI b M8X16 14 5

12 | S050—5321 VY 2 0.1
13 | S050—5340 EEALF (VUHA) 2

14 | S916—5256 NESFF b M10(P1.25) 4 5

15 | S028—5410 Y4 Fe— 2

16 | S916—5206 INESNAEF b M10 4 5

17 | S064—5410 A—HIoyvag iz 1 0.2
18 | S902—4053 INES AR L B M10X 25(8T) 1 5

19 | S063—4230 FRELFA 1B R 2

20 | S063—4240 i (RERPA - A) SR 1

21 | S040—1730 hF— SR 1

22 | S016—6750 T AL 1 2.0
23 | S938—1726 HE—ARF7Y VT 6206LLU 2

24 | S072—5440 2~ =4 (30X48.5) 1

25 | S072—5450 A ~N—H (30X50) 1

26 | S072—6770 AANF T 1

27 | S064—5110L *—H (fE) 1 0.4
28 | S064—5110R A —#H (4) 1 0.4
29 | S065—5120 x — A KR 2 1.0
30 | S902—4032 INERAERL b M8X16(8T) 4 5

31 | S709—2111 I s M10X25 2 50 0.1
32 | S064—5420 FL— b 1

33 | S806—7254 INESAUS v b M10 (P1.25) 4 5

34 | S902—4554 NS AR b M10(P1.25) X30(8T)| 2 5

35 | S828—1123 Tyva 30X 34X 30 4 0.9
36 | S061—5170 A —H X BN 2 0.7
37 | S938—1725 E—ARTYH 6205LLU 2 0.7
38 | S906—3239 FRRALIEA L b M10X30 6 5

39 | S936—2052 CHIL A R—52 2 5

40 | S016—0100 HY -2 97 25 2

41 | S058—5210 A=A 1 1.5
42 | S072—5220 VA=Al ] 1 3.5
43 | S941—1120 FoirEd— (i) 7X7X45 1 1.5
44 | S941—1221 Fir¥ — (Fd) 7X7X50 1 1.5
45 | S902—4052L NERBAEL S (E3D) M10LX20(8T) 1 5

46 | S009—0480 Y F7r—b 1

47 | S902—4553 NS AL b M10(P1.25) X25(8T)] 2 5

48 | S929—2206 SRS M10 6 5

49 | S811—2129 A AN —IL TC35488 1

50 | S906—1238 FARALIA AL b M10X25 8 5

2000. 1

15



724 F—F - TOTER

2000. t

16

"’,'t 11-20HST



F—#H--70OJE 724

R#No.| H W & 5 Y ' £ ¥R 1 B fE% | REBAT | Y L
51 | S704—8221 V7 -1 10B—3 1 15
52 | S831—3344 VAL b LB—44 3 0.5
53 | S803—0227 ANAFGHILA L k M8X 20 6 5
54 | S926—1208 IS KBS M10 4 5
55 | S926—1208L IS (K VH) M10L 1 5
56 | S016—9770 Ny F Y 1
57 | S028—5420 Jay b H—F 1
58 | S916—1106 NS o b M10 2
59 | S902—4054 NESAARL b M10X30(8T) 2

2000. 1

17



724 21— bR

"’"t 11-20HST 2000. 1




Ya—bEB 724

RHiNe.! BB % & 5 8 it % PN ¥4 = BB | FIEHN | FEHE T
1 | S064—6110 va—b 1 0.6
2 | S930—0228 #HY 3X20 4 10
3 | S929—2205 SERES: M8 4 5
4 | S807—1004 b33 WW—8 4 5
5 | S058—6220 t—75 4 H—F 1 0.1
6 | S901—4015 SNAARL b M6X12(87) 4 5
7 | S926—1204 IS XS M6 8 5
8 | S916—1204 NS o b M6 8 5
9 | S064—6220 Ya—bFr o7l 1

10 | S061—6210 Va—bFyruT2 1

11 | S930—0208 HY 2X16 2 10

12 | S929—2204 RS M6 1 5

13 | S009—2200 Va—tFyryTITAL 2

14 | S061—6230 AR S:: 15 1

15 | S061—6250 2T — 2

16 | S072—0730 v 2 — PEUHE 1 0.5
17 | S906—1222 FAMERALTE A L b M8X16 4 5

18 | S929—4205 FHEE (K1E) M8 4 5

19 | S926—1206 IS TS M8 4 5

20 | S916—5205 INEANETF b M8 4 5

21 | S002—3040 DN 1

22 | S009—0880 a— Mz (T) 1

23 | S061—6241 va—bhEFI4Y 1 0.3
24 | S824—1207 IR 6X16 1 5

25 | S061—0850 Va—bo) S 3

26 | S053—4430 %ot — L 1 0.2
27 | S906—1238 FAMAGEAR L b M10X25 1 5

28 | S005—1680 A S 1 0.3
29 | S910—4118 FNARGIERY (2R 3Ik) M8X12 3 5

30 | S061—4410 U — L8 (22— bhEml) 1

31 | S833—1103 2ZN—H AV a4 Vb 3 0.3
32 | S931—1130 2T Y 5X20 6 5

33 | S072—4440 2 (185L) 1 0.4
34 | S821—1001 LRy M10 1 0.1
35 | S916—6206 NESFF - b (3FE) M10 1 5

36 | S072—4460 rhidh 2 7 —2 1

37 | S902—4034 WNESAARL b M8X25(87T) 1 0.4
38 | S926—1206 IN IS M8 1 5

39 | S050—5540 Ty Yoa 3 0.2
40 | S016—7030 INVELT — 1 0.1
41 | S916—5205 NS o b M8 1 5

42 | S061—9540 Tyovy 250L 1

43 | S705—3249 2ATF) vy 1

44 | S929—2206 P 4 M10 1 5

45 | S926—1208 IN IS M10 1 5

46 | S916—5206 INESFF b M10 1 5

47 | S929—2207 SRS M12 1 5

48 | S902—4032 INES AL b M8X16(8T) 6 5

49 | S926—1206 IN TS M8 6 5

50 | S929—2205 SRR MS8 6 5

2000. 1

19



724 1 — bEB

2000. 1

v*t 11-20HST

20



va—hER 724
RiiNo.| & @ & 5 =Y uDu b4 PN # % | BEHAL | BT
51 | S072—4430 rhisl#h1 (750L) 1
52 | S072—4450 sl 2 7 —1 1
53 | S902—4034 INES AL B M8X25(8T) 1
54 | S926—1206 IS IS M8 1 5
55 | S929—2205 S M8 1 5
56 | S916—5205 AN 72y :: A M8 1 5
57 | S072—4420 Ny FILER 1
58 | S936—1017 & Awd S—17 3 5
59 | S072—4470 INY BV ESF 2 — T 1
2000. 1

21



724 ETEEER

4
40
@Q oa
D

v*t 11-20HST 2000. 1

22




ETEES 724

BiNo.| & & 5 B i % PN 14 = % [Fkhp | e T ¥
1 | S061—1261 EfFIviav 1 3.0
2 | S061—1260—1 | 2=V v T 7V 1
3 | S061—1260—2 | A4 % v~ (HST) 1
4 | S061—1250 ~JL kA 2
5 | S902—2033 INEANFFIL b M8X20 8 5
6 | S926—1206 IS IS M8 13 5
7 | S929—2205 P4 M8 6 5
8 | S061—1320 B 2 1 0.8
9 | S941—1215 Fird— (B 7TX7X25 1 0.6

10 | S941—1119 47— (Wid) 7X7X40 1 0.5
11 | S902—2032 NES AL b M8X16 1 5

12 | S061—1330 \A)) 1 1.5
13 | S910—4124 ANAERTHER Y (ZF3I4%) M8X 25 2 5

14 | S704—1222 V77— 5.5A—1 1 0.5
15 | S058—1360 W4 1

16 | S061—1370 V7 =Y GEfFIviavy) 1 0.4
17 | S901—4016 NEEL b M6X16(8T) 4 5

18 | S926—1204 IN RS M6 5 5

19 | S929—4204 FHEE (K1%) M6 4 5

20 | S941—1109 AT F - (k) 5X5X28 1

21 | S061—1380 FL— b 1

22 | S901—4015 NARL b M6X12(871) 1 5

23 | S902—4050 NEFS AR b M8X130(8T) 2

24 | S916—5205 INESFT b M8 10 5

25 | S831—1337 VAL b LA—37 1 0.4
26 | S831—1332 VAL b LA—32 1 0.4
27 | S831—1333 VAL b LA—33 1 0.4
28 | S072—1410 FULaYT—L(Z VU= hy L A) 1 04
29 | S936—1015 CIEIL A 6 S—15 3 5

30 | S061—1420 FrvavT—546 (EFFIvvay) 1

31 | S072—1430 FyYa VBT R 2

32 | S705—4241 2TV 2 0.2
33 | S061—1441 FUvavT—54H (Fu9) 1 0.5
34 | S936—1017 CEIE A S—17 1 5

35 | S929—2209 SRS M16 1

36 | S930—0241 R 4X32 1 10

37 | S715—2673 FraryI—y IH 061—1450 1 0.5
38 | S938—1723 A= RTY Uy 6203LLU 2 0.5
39 | S705—5247 YAV 1

40 | S705—4248 2T vy 1

41 | S061—1460 LIN—AR R (FTavFyigy) 1

42 | S715—1101 Frva v —Y (45X20) [H 005—1270 3 0.2
43 | S061—1470 Fvig Vi 1 0.3
44 | S916—5206 INESRFT Y b M10 5 5

45 | S926—1208 AN M10 5 5

46 | S929—2206 SRS M10 2 5

47 | S929—2207 R4 M12 2 5

48 | S930—0230 #HY 3X25 2 10

49 | S826—5125 VL7V PARTY 2=y b | ASPFL205 1 0.5
50 | S058—1120 UKL b 2

2000. 1

23




724 ETEIREE

40

"”’t 11-20HST 2000. 1

24



ETERE 724

HiiNo.| M & & & ® OB & W 1% = (A% |REn | BT

51 | S072—1200 RF7PY Y F—F 1

52 | S902—4033 NES AL b MB8X20(8T) 2 5

53 | S826—5425 VL7V OERTY v s 2=y b | CSPFL205 1 0.6
54 | S930—0228 v 3X20 1 10

55 | S824—1207 YR 6X16 1 5

56 | S930—0208 ey 2X 16 1 10

57 | S040—1460 7w 210X10 1

58 | S061—1510 A—HTL—F 4 — 1

59 | S931—1129 Z2TY Y 5X18 1 5

60 | S901—4015 NALRNL b M6X12(8T) 1 5

61 | S926—1204 IS GRS M6 1 5

62 | S929—2204 e M6 1 5

63 | S072—1480 gy K (Fugya—y) 1

64 | S916—1204 YL VAR M6 2 5

2000. 1

25



724 HESER

26

.b,.t 11-20HST 2000. 1



HESE 724
RtiNo.| # & & 5 Y F % L8 it H il | B | Y T
1 | S058—2510 WH Sy =2 1 1.0
2 | S050—6210 EJ AT = NIV T Assy HHNo.3~8& ¢ 1 1.2
3 | S050—6210—1| V& —VRATY U 1
4 | S050—6210—2 | /XL THEE) T — 4 1
5 | S050—6210—3 | F—1 1
6 | S050—6210—4 | ST T — LTI v b 1
7 | S050—6210—5 | XS v 1
8 | S050—6210—6 | 71y b HIv— 1
9 | S060—2690 Ly— (MIE/ L 7) 1
10 | S916—6205 N Y+ (35E) M8 1 5
11 | S072—3770 #o GhELY I Y—-) 8—40 Wxsu 1
12 | S852—9255—1 | WiE4A— 2 (550L) PRI/4AZy—=bazrv) 1
13 | S852—9265—1 | Wik — 2 (650L) PFI/4AAY = b1zt y 1
14 | S061—2530—1 | WH-Kk— Z (1350L) PRl/4F Ay — bzt v | 2
15 . | S061—2530—2 | K — 2 (1450L) PFl/4% AV —-baztvi 1
16 | S061—2530—3 | WHFEF— 2 (1600L) PFI/4+ Ay —bazxv| 1
17 | S851—3206 TETE (90 ) PTXPFXx A - F1/4| 4
18 | S851—4106 TETSHE (45 ) PTXPFA Z23 — +1/4] 2
19 | S851—8202 TETE (90 ) $D0.9 PTXPFAZY —F1/4| 1
20 | S851—8201 TETHE (90 ) FKDOS PTXPFA A — }1,/4 2
21 | S851—1106 TETE (AL —F) PTXPFA 2y —b1/41 1
22 | S851—3106 TETHE (90 ) PTXPFA 2y — b1,/4 1
23 | S061—2610 WES Y & (k%) 5 HNo.24~32& ¢ 1 0.5
24 | S061—2610—1| YUV &F2—7F 1
25 | S061—2610—2 | X by K 1
26 | S030—0360G 2y K HN— 1
27 | S818—1125 HZ Y=L SDR—25 1 1.0
28 | S819—1125 7y KISy F v SKY—25 1
29 | S951—4034 oy vz 1B—P34 2
30 | S028—0370 Y2 by 1
31 | S951—3016 oYy S16 1
32 | S806—2256 U+ b M14(P1.5) 1
33 | S058—2620 ApEHY Y (1) 1
34 | S929—2208 S-S M14 4
35 | S930—0241 il 4X32 5 | 10
36 | S058—2630 HEEHY v (F) 1
37 | S017—8560 WES Y v & (u—1) ) HHNo.38~48& ¢ 1 0.4
38 | S017—8560—1| ¥ Vv & F 2 —F 1
39 | S017—8560—2 | ¥A brway F 1
40 | S017—8560—6 | & v F H3v— 1
41 | S050—6530 S G 1
42 | S818—1116 APy —)L SDR—16 1 0.9
43 | S951—5030 oy vy 1B—G30 1
44 | S951—4016 oY 1B—P16 1
45 | S951—4024 oy vy 1B—P24 1
46 | S951—4012 oy 1B—P12 1
47 | S806—1205 U+ v b M12 1
48 | S929—2207 VR M12 1
49 | S941—1380 Fird— (i) 5X5X18 1
50 | S058—1380 V77— 4A—1 1 0.5
2000. 1

27



724

JHIE EB

t’t 11-20HST

28

2000. 1



HESE 724

HiiNo.| & & & 5 woOR % 15 i R | RN | e TR
51 | S016—8770 4 1
52 | $902—2051 INESRAEARL b M10X16 1 5
53 | S926—1208 AN M10 1 5
54 | S902—2032 INES AR b M8X 16 4 5
55 | S926—1206 IN TS M8 4 5
56 | $929—2209 SRS M16 1
57 | S851—4206 TETE (45 ) PTXPFAZY—F1/4| 1
58 | S901—4137 ANALRL b M16X55(8T) 1
59 | S916—3209 NAT .y b (3F) M16 1
2000. 1

29



724 HIN— - ETTL— LEB

PPt 0T 2000. 1

30




HIN— - FEFTFTL—LE 724
HHNo.| & & 5 Y i % b 4 H fE% | RiEEA | T
1 | S072—8110 B SR 1 0.6
2 | S061—8130 HF 1 0.1
3 | S061—8500 S 1
4 | S901—2016 NAFRNL b M6X 16 2 5
5 | S926—1204 IN XS M6 2 5
6 | S056—2540 Tyo850F 9
7 | S908—1236 +EZR A F NN R Y M6X12 2 5
8 | S926—1204 AR Y M6 2 5
9 | S916—2204 ANHET b M6 2 5
10 | S072—1610L A7 —Hift&H (&) 2
11 | S072—1610R 27 —-WtE8 () 2
12 | S902—4033 WNESRAERL b M8X20(8T) 24 5
13 | S929—2205 4 M8 16 5
14 | S712—1101 = AV 2 0.3
15 | S902—4034 INEENHIR L b M8X25(8T) 2 5
16 | S926—1206 I8 3PS M8 30 5
17 | S916—5205 WNESRFAF o b M8 10 5
18 | S072—8100 NP 1 2.5
19 | S050—8120 AV Fy b Frig - 1 0.1
20 | S929—2205 S 4 MS8 1 5
21 | S930—0208 #Hy 2X 16 1 10
22 | S072—8280L iR 2 7 — (k) 1 0.3
23 | S072—8280R R 2 7 — (F) 1 0.3
24 | S072—8292L HIN—T L~ (JE) 1 0.7
25 | S072—8292R HIN—=T L —24u () 1 0.7
26 | S902—4031 MNERAARL b M8X 12(8T) 2 5
27 | S926—1206 IN IS MS8 2 5
28 | S072—8301 A A 4
29 | S902—4033 MNESHEAL b M8 X 20(8T) 8 5
30 | S926—1206 IN RS M8 8 5
31 | S072—8232 R A28 — (8) 1 0.7
32 | S072—8242 R 71 75— (£3) 1 0.7
33 | S072—8270 M A5 — () 2 0.1
34 | S916—1203 AT b M5 16 5
35 | S926—1203 INI S M5 16 5
36 | S929—4203 VHEE (K1E) M5 16 5
37 | S822—3535 Bo (/7HEnb) M8X30 4 0.1
38 | S927—3106 m s+ L—8 8
39 | S929—2205 SERES M8 4 5
40 | S834—0012 70 Ay b 6—12—2.0 4
41 | S072—8421 pA=DZ N AT 1
42 | S834—0005 =B 15—19—1.5 1
43 | S902—2032 INEFSHARIL b M8X 16 3
44 | S902—2036 INESSFIAER L b M8X 35 2
45 | S902—2033 INEAS RO b M8X 20 1
46 | S926—1206 IN TS M8 4 5
47 | 8929—2205 S M8 1 5
48 | S016—0070 TAY AT — 1
49 | S916—6205 MNESAF Y b (3F) M8 4
50 | S072—8480L Jay b FHhs— (F) 1
2000. 1

31



724 HIN— - EFTTL —LER

v*t 11-20HST 2000. 1

32



HIN—«FEFTTL—LE 724

RiNo.| # & % 8 ®moOoO®R % K 1% L B8 | Fduify | EUETH

51 | SO72—8480R 70y b FHh5—= (FH) 1

52 | S901—2015 NAEL k M6X12 6 5

53 | S926—1204 IS S M6 6 5

54 | S069—8811 THH 1

55 | S061—2111 X AR 1

56 | S929—2209 R4 M16 6 5

57 | S918—4209 NNEFES AT b (FEIKE) M16 8

58 | S930—0241 E: RS 4X32 8 10

59 | S050—1200L rua—35 vy gy (k) 1

60 | S050—1200R ra—535vy gy (5) 1

61 | S901—8901 FrvavELE (£RYD) M16X150(8T) 2

62 | S916—1209 NAT v b M16 2 5

63 | S058—2230 EFA T o b 2 0.6
64 | S061—2210 4 2

65 | S926—1212 I8 RS M16 2 5

66 | S030—0160 74K 4 0.7
67 | S938—1724 e N ) A 6204LLU 12 0.7
68 | S030—0170 AR A 2 0.7
69 | S252—0350 HE 4 12

70 | S072—2240 TLrU—TF 2 0.5
71 | S061—2410 FHANT — AR 2

72 | S902—4075 NESFAARL b M12X40(8T) 4

73 | S926—1209 A 35 M12 4 5

74 | S916—5207 NESAF o b M12 4 5

75 | S953—3202 P —ZA =y TR C—PT1./8 2

76 | S870—2112 BRI A2 (8H) 5

2000. 1

33



724 B

.h’.t 11-20HST 2000. 1

34




B 724

RiNo.| ¥ & & 5 Y Hh % FiN b1 = flElg [ REHAL | 2 TR
1 | S072—9402 Bof N — 1 A 1 1
2 | S061—9551 a—-F (H) #4)LP:SW 1
3 | S061—9420 2 — 35 (LILH) 1
4 | S061—9430 g —3IFNE (+) 1
5 | S061—9441 A —3IFIEE (—) 1
6 | S753—8301 Ny FYR—3IFN (+) IE—L 1
7 | S753—8401 Ny F Y a—3IFNL (=) IhFE—1 1
8 | S753—1002 INy TV 36B20L 1
9 | S751—1001 v 3y NARA yF 1 0.3

10 | S752—1002 IYDVARAL wF 1 0.3
11 | S752—1002K Ty F— 1

12 | S050—7431 5424 yF 1 0.2
13 | S061—9451 AT =R 1

14 | S050—7420 74 b .HiNo.30, 31& % 2 0.2
15 | S072—9560 A (94 b5 4 b AL v F) 2

16 | S757—1020 Ea—A 20A 1

17 | S061—9481 ta—ZXKy o R 1 0.2
18 | S072—9570 Ao — 2 X (SR T4 ) 1

19 | S061—1240 ISy T UMZ AL b 2

20 | S921—1204 A AE AN Al M6 2 5

21 | S058—1130 T8y F Y O3y 7)) 1

22 | S061—1280 Ny F YA 1

23 | S061—3740 Fa—074% 1

24 | S901—2016 SNAAEL b M6X 16 2 5

25 | S926—1204 INIES M6 2 5

26 | S916—1204 ANAF o b Mé6 2 5

27 | S902—2032 MNES AL b M8X 16 2 5

28 | S926—1206 ISH S M8 1 5

29 | S752—1004—2 | TV TV AA yF HIN— 1

30 | S050—7420—1| 4 bL X Sy F U4 2 0.2
31 | S760—1022 EEK (JHS050—7420—2) A12V35W (S25) 2 2 0.2
32 | S834—0013 Ay b 9—12—15 2

33 | S061—9462 -7 F 4R v F 1

34 | S069—7500—2 | WMBEIL X4 v F 1

35 | S760—1005 HIk A12V3W(T10) 1

36 | S069—7650 JNEUT A b 1

37 | S760—1014 HIK A12VI0W(G18) 1

38 | S061—9463—4 | BlfE (A —FH 2o 7 v F) 1

39 | S061—9210 ZA 9 FTIry b (F—9H) 1

40 | S908—1217 R BN D M4 X 25 2 5

41 | S929—2202 4 M4 2 5

42 | S901—2016 ANEEL b M6X 16 2 5

43 | S926—1204 IN TS M6 2 5

44 | S929—2204 4 M6 2 5

45 | S902—4033 NS RO b M8X20(8T) 1 5

46 | S072—9171 WAL v F (22— FP) 1 5

47 | S754—1108 kEXtv—-774 24 9 F 1

48 | S061—9250 CAVL-— 2

49 | S901—2016 ANEAEL b M6X 16 2 5

50 | S926—1204 I8 S M6 2 5

2000. 1

35



B

724

2000. 1

36

F"*t 11-20HST




TEE 724

RtiNo.| & & & Y At % P it A% | B | % T
51 | S929—2204 e M6 2 5
52 | S870—2111 filigdi 2 (6H) 7 5
53 | S870—2112 AosRimz2 (8H) 4 5
54 | S902—2032 NEFS AL b M8X16 2 5
55 | S926—1206 IN TS M8 2 5
56 | S916—5205 INESRAT b M8 2 5
57 | S901—2015 MNAEL b M6X 12 6 5
58 | S926—1204 IS RS M6 6 5
59 | S069—7440L 54 FAF— (F) 1
60 | S069—7440R 54 bZXF— (H) 1
61 | S926—1206 IS M8 6 5
62 | S916—5205 NESATF v b M8 6 5
63 | S069—7450 F 4 b AT —HHRR 6
64 | S902—2033 INESAARIL b M8X 20 4 5
65 | S072—9580 Bg (54 VT -2V DV) 1
66 | S072—9590 Bk (94 b7 —2R) 2
67 | S926—1201 IN TS M3 2
68 | $929—1201 SRS (VNER) M3 2
69 | S908—1204 FZRA AN A Y M3X12 2

2000. 1

37



724 X7y HEB

11

by

N\

————

2000. 1

38

t*t 11-20HST



A7y HhER 724

R¥No.| ¥ & & 5 il i 2 PR 4 % | FRIEHAL ) ISR L
S9999—7230 2Ty h—R
1 | S072—9720 27w A (B - B85) () (B) 2
2 | S050—8140 27 v # (YANASE) 1
3 | E000040 HI R (#Gih) 1
4 | E000041 HINL (77 T EER) 1
5 | S9999—0006 HINIL (BREDDID) 1
6 | S9999—0007 HINRIL (H5—) 3
7 1 S9999—0009 IR (X —Hfakg~— ) 1
8 | $9999—0010 BN (TaTfakge—2) 1
9 | S072—9733 2T (BLESHMN) 1
10 | S061—9740 AT wh (Rv—2) 2
11 | S009—1140—2 | ZF v h (HV ) V) 1
12 | S072—0920 27w H (FHE/ S L) 1
13 | S072—0911 2Ty h (BfE/SRL) 1
14 | S061—9850 ZFuh (2Pt 4 LBURER) 1
15 | S061—9860 A7 9 h (ZF7 o) —FHIREE) 1
16 | S072—9780 ZF v Hh (VR F—E) 1
17 | S9999—0031—4| A5 v # (BEAHEX) 1
2000. 1

39



724 BECHRE

BYE£ - bre—8Y ey LAY AL = ALAT
oFoFo ] @ T orZ
O10 | ¢ . T g-zwa O
o—T=0 0 @ @ =
3 g | i1s | o | 1va
, T 1
0
=]
. ¥
) m =] U
_ﬁ @H““ 4 = —— N
-..m I3 \er_q%vMMm BE hdhd A VY % Y 3 M.
b T\ % L g —\
= % & h &
4/ Y% O.J\Ilm
wva Y7
\} VY W L/ ]
(TN s = \ S \ I N A A arr-am
— ﬂ =
2 |¥ =] BHg X ¥ X g | g
@ el 5|5 |% # |5 5 5 |8 |8 |5
I
N b Larkyr (W Nse mm m m m 0 m m m m m
l
5 ) i L] i)
£~ )Y
£4 4y -1 (v02)
bLe—3  £hL4 Lo £6 Ly LAL £h)Y BArg
—© s “—x =T ALk yre x-t3
=10 -1

2000. 1

40

r*t 11-20HST




I
Engine Parts

Model 381447 Type 0233—E1

Top
t/ U > g“gg ................................................... 42~43
Cylinder
D ANy RER ceeereecsettonttentiinetiiiiiaiiiean., 44~45
Cylinder Head
A2T—=TRZKR=IVE - By DHIN—E -eeeeee 46~47
Intake Manihold & Rocker Cover
73~/7:/_\.,7|\.[:°1 |\*/xni|3 ........................ 48~49
Crankshaft & Piston
;\—,,\,, 7“[/9135 ................................................ 50~51
Carburetor
177U_j—.775§|3 ................................. 52~53
Air Cleaner & Muffler
7J"f)l/7“)1/—7°§|3 .......................................... 54~55
Oil Group
'%‘Z_%%B ......................................................... 56~57
Electrical Equipment
91%%%[3;5': ...................................................... 58~59
Blower Housing
HINF Y A — JBR ceeeeniniiiniiiiiiiiiiniiie, 60~61
Governor Linkage
;(51_9{_9%5 .......................................... 62~63
Starting Motor
Ty RN = e 64~65
Kit Parts

41

2000. 1



724 V) AR

BRTHEh TWABREIT7 v TUEBGETT,
WENER R I Y - THBRIBFDETT, UNRTIZa7IEBRBLTIEEL,

v*t 11-20HST 2000. 1

42




Y HER 724

RiNo.| #H & & 5 B fh #% F7N i B |RiEHA | Ul TR
1 808650 | &V v A Assy. 1 3.8
2 808534 | Ty v 1 45
3 * 805101 | ALy — 1 4
12 * 806190 | 23 v o —AHIN HAr oy b 1
15 94239 | A A NLFLV Y - TIFH 1
15A S058—7120 | A4 LKLY « F 0 —T A S— 1
15B S009—0971 | AANLFLY - Fx o T A S— 1
15C S812—1012 | A4 L FL Y - = N7 VATV 1
18 808685 | 7T v o —R - HN— 1 0.8
20 * 805049 | A4 -0 1 1.0
22 805696 | A& ) 2 8
87 % 805054 | HNFL T V-0 1
116 % 806191 OV - v—) 1
154 806466 | 7T v 2 —AHIN— - F y b 1
170 806445 | T v o —AHIN— - X & 5 F 1
552 805412 | H N F oIV - Ty vy 1
634 805416 |7 v ¥+ 1
718 805103 | v —r—F 4 v -y 1
* RBE 358 1 Aok Mo EENE T,
O KBRBE121 2+ V- NZBENE T,
A KB BRL1033 0V -0 k- Fo M B ERE T,
HfEh B TREN-HDORT v TURRELY T,
2000. 1

43



724 D) ANy KEB

T N V
5A] 34
33 C\

1 67@

1022 192

BTEHEh TWABRE Ty TIVBETT,
KENEBER I ) S o> THBRIEFVET T, UNRTIYZaTVESRBLTLEI WY,

1”‘t 11-20HST 2000. 1

44



8Ny REB 724

RifiNo.| & & & & & i # PN Pt = flER | FiEHA | Y T8
5 808529 |#1 UV &H -~y F 1 1.0
5A 808530 |#2 YUVH - -~AyF 1 1.0
7| x4 806377 | YU VAN b HAT v b 2
13 805097 | ANFRA Y 4 8
33 806419 | ¥V —Z b - LT 2 @1.2
34 806420 |4 v F—2 - NLT 2 @1.2
35 805937 | XN T - ATy vy 4
40 805092 | /ST - Y F—F 2
42 807683 | /ST - ) F—F 2
45 262679 |7 - BNy b 4
49 805158 | ANFAAZ Y 2 4
167 | * A 805420 | 7w ¥ v 4
192 807623 | SLT TV Y AF 4 VT - A2 Y 4 | 23 7 HEIFELOmm 4 0.5
337 491055 | A/8—% - 755 2
635 805529 | 2 )S— o T35 - T— 2
830 806037 (T HT7—4 c A&y F 4
868 805094 | /"WLTHA K -0 2 1.7
871 805084 | HA4 K- Ty 2 1.8
883 | *x A 806425 | TF V=X b - HAF v b 2
1022 | A 806039 | HI)N— - HAT v b 2 0.2
1026 805352 | 7'y v a4 -uy K 2 0.7
(ZF—L8 4 VF—2sf)
805617 | 7y v a2 -y K 2 0.7
(738 T+ —2 M)
1029 806036 | v H - T —4 4 0.8
1100 806038 | T v HT7—4 ERy b 4
* MWES358 1 Arybh-yMiEENE T,
O HNBELI121 57 V- NIBERET,
A FIRFES1033 0V VT d-n"-d-b-fo b IZEE N F T,
gk B THERENAZDDRT7 vt TVEBRELYET,
2000. 1

45



724 A >F—<=Fk—IK -QyvHhHh/N—Z

BTEHEh TWABRE Ty TUEBRTY,
KNSR B A 7 THBRI BV RETY, UNTIYZaT7VEBRLTIEE,

601

PFt

11-20HST

46

2000. 1



A2 F—J% K=K -QyHHIN— 724

HifiNo.| & & & 5 B8 % K 4 L2 R | Bk | EE T
11 806379 | 7 =¥ Fa1—7 1
50 806376 | 4 v 57— - v=sk—N K 1 1.0
51 % 805903 | F¥ TLATIYT 4 VY - HAry b 2
51A | A% 806418 (4 VT —% - HA ¥ v b 2
53 806008 | /N7 4 1
53A 805669 | 4 v F—rv=k—JLEF -Z&yF 2
54 806444 | AR 2 ) 4 4
98 808177 | 74 LAY —FK - 24 4 1
122 805900 | F v L& « AXN—H 1
124 805894 | NI 4 2
154 810078 | A ¥ F =T NLE - F o b 2
167 805420 | 7 v v ¥ 4
171 A 805019 vy Y - F oy b 4
367 806241 | X)) 4 2
431 808659 | 4 ¥ F—2% - TIEK 1
522 491832 | FANT 4N - TS5 1
524 271983 | 7ANF 2 —T - ¥ —JL 1
601 95162 (Hk—% -2 53T 6
601A 95115 |k— - 2357 2
819 805057 | NAZX YY) 4 2
918 393815 |/SF 2 —4 - F— 2R 1
(BBIZIE LT T EX W)
1022 | &% 806039 | T HH/N— - H X7y b 2
1023 808648 | T v F1 - HIN— 1
(BTN =% -1 7)
1023A 808032 [T - HIN— 1
* XRBEBEI8 1 Ayt Ehxd,
@ NRBEL121 %7 M-y NIBEhE T,
A RRBES1033 /00T -0 kL -3y b 2B ERE T,
HEP B TEHENEDDR T v TUSGRELYET,
2000. 1

47



724 7527 v T hEXNER

BTHEh TWEBRAR 7y TUBRTT,
KEIERGFEM )Y - THHERIEFBBETT, URTFIZ2TALESBL TN,

1’,..& | 11-20HST 2000. 1

48




772277 M -EXDMEE 724

RiNo.| W & 5 B T £ b % H el | REHAL | BRE T
16 691139 |77 v 2 v 7 b 1 25
17 805754 | E—AXT7TY v H 1
24 806066 | 774 K4 —0 - F— 1
25 808527 | ¥ b Assy 2 @1.6
26 808528 |V vty h—2 AV H—F 2
27 806378 |K¥Z bbby -1y 4
28 808526 | ¥ X by - ¥V 2
29 808646 | A XL F 4 v Ty K 2
32 805395 | AT F 4Oy K22 4 4
46 808649 | H 4 - X7 1 0.8
146 94196 |¥H*— 1
548 807625 | v 4ty b 1
741 805984 | #4 IV - XT 1
1025 805313 | #/3F - A TS — 1 1
* RRFEE38 1 Ay Mz &EhE T,
@ HFEEFEE121 %7 WM EEh 4,
A EFF1033 0 VT AN h-h Ry b IZ B E R E T,
EfFh B TRENEZDDORT v TUBRELYET,
2000. 1

49



724 X+ JL 2T

105 §
947
133 955 m
@m\ o® o

975

® 955A
137
3 QO

113 17
SHP

BTEREh TWSEBRE Ty TUVRAETY,
K ENEBG LB fHC M 7 - THHETENDETY, UNRTIZaT7LESRL TS,

rE

11-20HST
50

2000. 1



XvJL 28 724

HitNo.| & @ & 5 ;o & % biN = A Rk | BT
51 % 805903 | A vF—2 - HA¥ v b 1
o4| @ 808257 | 7ARALTY ¥y A b VLT 2 @0.5
95 805538 | Ay F K« A& 4 6
04| @ 805976 | 7ubkry -V 1
105| @ 805547 | =— K -3 1
108 805977 | Fa—2 - LT 1
113| @ 806375 |Fr 7L & - /XN 2
17| @ 806438 | A4V - Pz b 1
(LeLid#ELIY Y v &)
117A| @ 806439 | A4 ¥ Yz v b 1
(RELLZ# 2> vl
119 805980 | +FBHA VY 4 4
125 808712 | Fv 7L & Fr7Vas-n-F-L1.8 1 1.2
130 805978 | At w ML - )N T 9
131 808713 | AWy ML - ¥ 7 b 1
133 808180 | ¥+ 7L ¥ - 7u—} 1
137 @ 805967 { 7u— hERIIL - HAF oy b 1
141 808181 | Fa—2 - ¥ ¥ 7 b 1
187 208049 | 7 AT - TA YV 1
240 493629 | 7o XTI - T4 N4 1
385 693169 | ANFAZX YY) 4 2
387 808656 | 7 o T - KT 1
601 95162 | k—RA -2 5V 6
633| @ 805544 | ¥ 7 b - —N 1
788 807685 | K7 - 7 I v b 1
947 808624 | 7oL - VL JAF 1 1.2
955 808176 | ¥+ L& - S5 1
955A 807723 | ¥+ TV - T I 2
975 808627 | 7u—t - EwL 1 1.3
987 | @ 806070 | v 7 b ¥ —N 1
1091 @ 805862 |V 3IvE -FyvouT 2
* [XRFE358 1 Ay b McEENE T,
@ HMEE121 37 - BNIEENET,
A RES1033 0V A= kbR b ICE ERE T,
R B TEENEDBDORT v TUBRELVET,
2000. 1

51



724 TT77V)—F-<TSH

BTHEh TVWEBRE Ty TUBRTT,
KENEBER I ) FHI M o> THRIEPBETT, URTYZaTILEBRBL T AL,

.‘,,.t | 11-20HST 2000. 1

52




I77)—F < TS5E 724

HifiNo.| # & & 5 w5 % W 15 L2 % [RIEHN | T
38 805902 | AfA Y 4 3
154 810078 | 77 ¥ Ut F o b 2
161 808655 | L7 ¥ —F - XN— 2 1
163 * 806013 |7 Y—F - HXHr o b 1
300 808700 |~z 1
305A 805406 | NFAZX 7 4 3
431A 806002 | L7 &) —F - TK 1
445 692519 | Z7 2 —FH—bYouP  TANA 1 0.1
467 491875 | / 7 1
613 805158 | ANAZA Y 4 4
642 808654 | L7 H Y —F - Hi— 1
643 805631 | L7 74K - )T —F 1
819 805057 | AR Z Y 4 2
862 806011 | 2V —F " vF 4 vy - AbTyT 1
967 692520 | Y —F - T4 N4 1
1004 806422 | 7 - £ b 1
1014 808105 | ¥+ 7L & - =N F 1
* XIRES358 1 Arybh- Mz EhE T,
O HNRES121 %7 W -y BEhE T,
A KB ES1033 0V A0 —F-b-Fy b 2B ENE T,
Mg B THREN--DBDOR Ty TVEBRELENET,
2000. 1

53


tohoku
テキストボックス
 808700


724 FANWTN—T

BTHENTWAESBRE 7y > TVEBRTY,
KNSRI B ) (o THETIEPDETT, UNRTIZ2aTLEZBRL TS,

"’,‘t 11-20HST 2000. 1

54



FANTI—=T 724

BdNo.| & % F 5 s % W 1% L1 E% [RikE | = T
89 91488 |4 N FL Vv - T 55 2
116B * 805316 |OV VT - —n 2
(A4 NEYT)
116C % 805058 |0V v -v—) 1
(o FwF - Fa—7F)
166 805073 | ANAAFNIFA T - A&y F 1
186 693184 |K—RA - T XU %
188 805247 | N2 4 1
189 805449 |1y ¥« Ty iy 1
239 690233 | AANLTL vy v« X4y F 1
243 807598 | A ALKy T - ZH ) -V 1
408 805057 | 22V 4 2
408A 805406 | 22 V) 4 2
416 805654 | A ANKY TET « HIx— 1
417 810074 | A2V a 2
493 806423 |ww v F 4V Y - TI o b 1
523 693175 | T A v T AT 4 w2 1
525A 693173 |AA LT 4 - Fa—7T 1 0.1
529 693172 | 74 NFa—TF - —0 1
601A 95115 |29 v 7 1
823 805317 | ANAZX 2 4 2
978 * 805250 | H A& v b 1
982 805030 | NIRRT a 2
1024 693185 | A4 N - KT 1 1.0
1027 492932 | A4 - 7 4 & (57TmmiEz) (FEiHE) 1 0.1
1028 808537 | 74 NF - THET A 1 0.2
1068 499501 (K- -2 537 2
1117 808657 | A4 N - —3 1 0.5
* X B E358 1 Aryb-tyMIEEhxd,
O HREZ121 57 V- NIEENET.
A KRB E1033 0 W AN —h-b-dy b s EEhET,
HfEh BTCHEN-BOR Ty TURBRELYE T,
2000. 1

55



724 B

520% 6

1054 O~ e 169
373@

BTHENTWINBRET vy TUBRTT,
KEIERER G ER ) FHI L 7 > THHRTI BN DETY, UNTIZa7LEBRLTLEEY,

t*t 11-20HST

56

2000. 1



B 724

HiiNo.| &8 & & & Y fh £ 77 i H ¥ | REHN | ERE T
23 808129 | 73444 -0 (RF-N) v FETH) 1 0.6
165 693148 | F v b
169 92791 |2 v - Ty iy 1
188A 94627 | SR Y 4 2
332 806028 | 774k 4 —J - F b 1
333 492341 |V X2y b - TYF T 2 @0.3
334 805407 | NFAZX 2 o 4
363 19203 | 7934 K4 =0+ TF—3F (Frk L H)
373 90576 | F v b 1
474 393295 | AN & x— & 1 1.0
482 806104 | SHA 2 Y 4 4
501 304890 | L X 2L & 1 0.1
507 398525 |4 v AL —4 1
520 93722 | #—3IF N 1
526 805448 | +FEANHA Y 4 2
529A 805641 | 7’1 A v b 2
578A 493792 |7 F VK- 74 % 1 0.5
695 693149 | 2~ Y 4
726 808162 | Vv E¥7F7 (A F— L& 1
729 280470 |74 Y -2 ) S 1
851 493880 | r—7n - H4—3IF0 2
877 399916 | AN BZ X —& - AXH A 1
1005 808082 | 794K 4— T 7V 1
1006 224413 | 77 v - UV TF—F 1
1054 270723 | r—7n - &4 1
1054A 280275 | r—7n - &4 1

* XRFH3I8 1 Aok EZEhEd,
O KREL121 57 V- M EENE T,
A RRB L1033 007 50" b - dy M 2B E N ET,

H@P BTHENLDORT v TUBRELVET,
2000. 1

57



724 A

BTEEh TVWABRET v TUVEBRKTT,
A ENEBSL F B ) (S o THBIEN DB TY, UNRTRZ2TILEBBLTILEE L,

"”‘t 11-20HST 2000. 1

58




SHEEamEl 724

RiiNo.| & & & 5 BB % 14 14 E% | REN | YT
73A 224757 |BE A2 Y — v 1
74 805026 | +FA 2V 4
304 808658 | T YUY 1 0.6
305 805025 | ANFAZX 2 o 2
305A 805406 | ANFAA LY 4 12
353 806101 | #—3IF N -7y iy 1
478 806001 | /¥F 1
573 807663 | /¥y 7 « L —} 1 1.0
657 805009 | +FEEZX 7 Y 2 2
727 805505 | A X — & KA T - H3i— 1
865 692806 | L7 HA K - HIN— 1 0.7
(#1329 v &)
865A 692805 | L7 H A4 K - H3— 1 0.7
(#2290 v &)
866 805738 | 7 H A F - Ho3— 0.9

* R ES3S8 1 Aybh-yMIEENE T,
@ HUREE 12137 V- Mz E T hET,
A REFES1033 0V F-n" -0 -y b iZEEh E§,

H@P RTRENLDORT v TUBRELYET,
2000. 1

59



724 HNFVr—T8

202 211 By 209

BTHENATWEIBRET7T vy TUEBRTT,
KENRRERISE ) (HC L > THARTIEPBETT, URTIZ1T7AMEBRL T LS,

.h*t 11-20HST 2000. 1

60




HNFI =8 724

RHiNo.| ¥ & & 5 B h % g7 ¥4 = % |Rikun | w7
87 805054 | #/SF L ¥ 7 b V=N 1
202 806007 | A B =HNHINF - ) U 1
203 808674 | XN - T vy 1
209 805459 | HINF - ATY v 1 0.1
211 805453 | H/NF - XA TY Uy 1 0.1
216 806019 | Fa—2 - UV 1
222 808195 |2 b —JL - 7F4 v b 1
227 807528 | H/¥F - LIN— 1
231 805247 | NFAAAL Y 4 2
232 806009 | YV - ATYUY 1
265 21535 | r—v vy o307 2
278 805018 | 7T v k- Tuix 1
351 805762 | AAZA Y 4 2
505 805383 | > b 1
552 805412 | HNWNF oIV - Ty vy 1
552A 805413 | HNF oIV o - Ty vy 1
562 805381 | # /¥ FLax— - Kb 1
614 806096 | H/XF L ¥ T b - UF—F 1
616 807596 | H/NF - 2T Y 1
* MR BE358 1 Ayb- MG EhE T,
O NE&EZ121 57 V- NI BENE T,
A B 1033 V8T A0 k-3 b IZEE R E T,
HfFh B CHENAEDDR T v TURRELGYET,
2000. 1

61



724 ZXH2—Z2F— 28D

309

510

310

BRTEERTVWARKE Ty TUSBRTT,

SNSRI (oM e > T BT EHNPETT, UNRTIZ 27N EBRBLTILEL,

+rt

11-20HST

62

2000. 1



Aa—2E—28 724

RiiNo.| & & & 5 ®o& % K 14 L1 B |RkHn | MR T
309 808106 | A& — & « E— & 1 0.8
310 496880 |NAZA Y 4 2
311 496887 | 77 v - &9 b 1 1.0
510 496881 | A K —4 - FF34 T 1
544 496816 | A& —4 « PV F 4T 1
697 805247 | NI 2 Y 4 1
801 496814 | F 947 - Fr o7 1
802 496813 |V F - F v o7 1

TioHamE &L
496887 | 77+ - v b 1
803 496815 | A& —4 - NH YU S 1

* HFEE358 1 Aryh-yMIEEh &Y,

@ HRFEL121 17 V- NIEERNE T,

AR ES1033 10 M7 40 —d-b-dy b iZE Eh T,

gk B CHENRZDBOR T v TUBRELGYET,

2000. 1

63



724 F . bIN—Y

358 iRy bk -Fvb

121 £+ JL& - Fy b

987 @
633 0
175 (L)
17A
104 <

105 137®
s B
%4

o®

1091

--d

BTEEATWARREIT7 v TVBERTT,
K ENERER IR M > THBRIBENFDETY, UNRTYZa7LESRLTREEW,

»Fe

11-20HST

64

2000. 1



oy bX="2Y 724

RiNo.| & W & B ®w R & i L3 % | R | HETEK
3 * 805101 | A - —N 1
71 A% 806377 |V dNy K- HAXF v b 2
12 * 806190 |20 =X - HAF v b 1
20 * 805049 (A AN - —N 1
51 * 805903 | A v7r—2 -HArvh 2
51A | &A% 806418 (A ¥ F—2 - HAX v b 1
94 @ 8082557 |/NATT Vv A b LT 2
104 @® 805976 | 7u—btk Y -y 1
105 ® 805547 |=—FIL -7 1
13| @ 806375 |FrTL & - /XN 1
116 * 806191 OV VF -V =0 1
116B * 805316 OV VI - ¥—0 1
116C * 805058 |OV v -v—n 1
117 @ 1806438 [ A4V -y b 1
(L Lik#1vy v &)
117A @ 3806439 [ A4 - Ty b 1
(RELIF#H 2V 5
121 808618 |+ 7L & - F o b
137 @® 805967 | 7u—LtARIIN - HAr o b 1
163 * 806013 | 7oV —F - H Ay b 2
167 | &% 805420 |7 v ¥ v 4
171 | 2@ 805019 |7y & - F b 4
358 808617 | H# XA v b -ty b
633 @® 805544 | v 7k -v—0 1
883 | A% 806425 | F VU —ZA b - HAF o b 2
978 % 805250 | AANTETSHR - HArv b 1
987 @® 3806070 |7 h-v—N 1
1022 | &% 806039 |y AHN— - HAr oy b 2
1033 808619 (/S T4 —s3—Fk—=NL - F o}
1091 @ 805862 |V3IwA -FyyS 2

% MR FE L3581 Avb-yMIEEhE T,
@ KREL121 57 V- NI B EhE T,
A KBRBEE1033 NV F-0" -ty M2 EhE T,

Mg e THENEZHDRT v TUBRELEVET,

65

2000. 1



good newdays

ARSLOELVLEKRES

Prt

KeFFET

KXztvrt
R RS

F105-8575 R R AR AR ZH1-6-38
TEL.(03) 3452 - 4311 (XftF)

HET ARERARS

IPL- 724



	Return: 
	Body: 
	Engine: 
	Top: 


